
Questions 
Sales & Use Tax – Part I 

Section C 
 
 
 
 
______  1. The Sales Tax due from retailers is based on: 
 

a) the gross receipts from retail sales of tangible personal property. 
b) the receipts from each retail sale of tangible personal property. 
c) the receipts from each item of tangible personal property sold. 
d) the wholesale cost of each item of tangible personal property sold. 

 
 
______  2. The tax remitted to the Department of Revenue should be: 
 

a) exactly what is collected from customers. 
b) 6% of taxable gross receipts. 
c) actual collections on 6% of taxable gross receipts. 

 
 
______  3. In order for a taxpayer to issue a valid certificate for proof that property purchased is 

for resale, and thus not taxable, he/she must: 
 

a) hold a valid wholesaler's permit. 
b) be a citizen of Kentucky. 
c) hold a valid retailer's permit. 
d) None of the above. 

 
 
______  4. A Retail Sales and Use Tax Permit must be: 
 

a) obtained by all retailers of goods and services doing business in Kentucky. 
b) obtained by all Kentucky retailers and be available if anyone asks to see it. 
c) obtained by all Kentucky retailers and be posted in a conspicuous place. 
d) obtained by all Kentucky retailers and be returned to the Kentucky 

Department of Revenue for filing. 
 
 



______  5. If a seller collects the Sales Tax from his/her customers and his/her total receipts for 
the month of March 2004, are $75,434 and deductions for the month amount to 
$13,634, net taxable receipts will be: 

 
a) $71,164 
b) $61,800 
c) $58,302 
d) None of the above. 

 
 
______  6. If a restaurant absorbs the sales tax and total receipts for the month of March 2004 

are $78,434 and deductions for the month amount to $13,634, net taxable receipts 
will be: 

 
a) $61,714 
b) $61,132 
c) $64,800 
d) None of the above. 

 
 

7. For what time frames can a retailer choose to absorb the sales tax rather than to pass 
it on to the consumer? What is the authority? 

 
 

 

 

 

 

 
 

8. If, under the bracket system, the retailer actually collects less tax from his customers 
than required, the taxpayer must remit the deficiency to the Department of Revenue? 

 
 

 

 

 

 

 
 



9. With the elimination of the bracket system, effective 7/01/04, how is the taxpayer 
required to compute sales tax? 

 
 

 

 

 

 

 
 

10. B Company has several salesmen operating in Kentucky, the sales office being 
located in Lexington, Kentucky. The company salesmen take orders which are 
forwarded to the home office in Baltimore for filing and shipment to the customers 
in Kentucky. Since the salesmen do not have possession of the property sold, is it 
necessary that a sales and use tax permit be obtained? If so, by whom? 

 
 

 

 

 

 

 
 

11. In March 2004, an electrical appliance dealer, who normally passes the tax on to the 
customer, advertises in the local paper that during a spring clearance sale no sales 
tax will be charged on the sale of major appliances. Is it permissible for the 
appliance dealer to handle a transaction in this manner provided he reports the sale 
and remits the tax to the Department of Revenue himself? Why or Why not? 

 
 

 

 

 

 

 
 
 



 
12. Is the owner of a service station and a restaurant located on the same premises 

required to obtain a permit for each business? 
 
 

 

 

 

 

 
 

13. Can a retailer making sales of lumber and appliances absorb the tax on the lumber 
and use the bracket system with respect to the sale of appliances? Why or Why not? 

 
 

 

 

 

 

 
 

14. X, an employee/salesman for the ABC Company, which is located outside the state, 
travels to Kentucky to contact Kentucky retailers for the purpose of obtaining orders 
for the sale of shoes. Upon completion of the orders, they are returned to the home 
office for shipment of the merchandise. Must either X or the ABC Company obtain 
a sales and use tax permit?  Explain. 

 
 

 

 

 

 

 
 
 
 
 



15. AFG Corporation, a manufacturer of automobiles, desires to build a plant in 
Kentucky to manufacture automobile bodies to be shipped to an assembly plant in 
another state.  The company representative contacts you in regard to the Kentucky 
sales and use tax and asks the following questions: 

 
a) Since the company will make no retail sales of their product in Kentucky, is 

it necessary that they obtain a retail sales and use tax permit? Why? 
 
 

 

 

 

 

 
 
b) The application for retail sales and use tax permit seems to indicate that it is 

for a business making retail sales of tangible personal property. What type of 
application should be filed for a business which makes wholesale sales or 
sales for resale only? 

 
 

 

 

 

 

 
 
16. ABC Corporation, based in Kentucky, is a manufacturer of office supplies.  Some of 

the production is sold below cost to XYZ Company, a subsidiary of ABC 
Corporation.  What would be your basis of taxing or not taxing these transactions? If 
taxed, what would be the tax base? 

 
 

 

 

 

 

 


